
Note- Taking Guide - Episode 605

kinetic energy eguation - I ~£ =- i ('(\·'It"2.1

ex: A shot-putter heaves a 7.2 kg shot with a velocity of 6.9 m/s.
a. What is the K.E. of the shot? 2.. ~

m :;:,1-.2~ 1 ~E:. Lr<\I'\1-2. !~ '::.i.:T.1.~·« /1 m/s~ = (":f-2j:J
N- b '\ rc\\S 2.. L--= 2. ,-- )

-:., . How much work did the shot-putter do on the shot? J \Xl = ./!.f = 4'1-2di
Problem Set #1: (1-3) on back

potential energy eguation - I f'E. '" m 'd' "-
Can you measure an object's potential energy? N 0-
Can you measure an object's change in PE? ~

ex: A 2.0 kg book is lifted from a table to a shelf 1.8 m above the floor. What is the
gravitational potential energy of the book ...
a. relative to the floor?

rn -:.l.~~ \ f£ '" (Y\.~. h." 2.~. "I.~!l\\~2.. i.;.3m::: 3~SJ
h-:::.(.~r1' FE = 3S

b. relative to the table 0.6 m above the floor?
~E.-::.m'~.h= .1~ ·4·8 n\\~2..4..2 (Y\ fE -= 11:fb

Problem Set #2 (1-2) on c

Energy can be -±ra.o$fo'tR\d., from potential to tcC)enc. and vice versa.

Law of Conservation of Energy:

• E oerd~ Ut-n e.r.CA./I~err<' bot eG\OI'\6-'t be C!-reGtt-eJ.
~ C£es+r6-d~

• IC\ ~ (!,{~<l \ \ be-1 tt+ea ~d'~t-em(-t-"-.e ~+tt.1
t1\€Cna.C'\lU\.\ -e~~ (\(E+PE) re(Y'\a.l{\~

~q,ftL(\t

PHYSICSFundamentals
<02004, GPB

6-21



f.
I

Note- Taking Guide - Episode 605 rttrrnen+vm d-ncA £ne4J
.' c..~()f"i(\Ve&.. )

Problem Set #3: Draw diagram here.

,
"

Conservation of Energy equation:

Conservation Ex. Problem:
A 12 kg rock is at the edge of a 95 m cliff.
a. What is the rock's initial PE and KE?

fE. -= \ 2. ¥.r 'I, s :1'1\I~ 'l.. qSrn '" \I 00QJ
~E. -::.0~

b. If the rock falls to the ground, w~at is its final PE and KEjust before it hits?

~:el * ~E\' = rE.f 1"' +:~.:Ef.. ok·E.r = It 000'1

c. What is the rock's velocity just before it hits the ground? .r 0
¥.E ~1f1\\f'l- 'IJ-= f6~ =- it?> N\ \ 5

~ Problem Set #4 (1-2) on back

During elastic collisions, KE is - <!.&rv;~vve J., bj' +"e. l5d"+e(\'\, 1- CY~deCJts\

During inelastic collisions KE is- (\0+ ee1\serv.e fA lod ~e Sd's+e rY\
because some energy is - l~s.+ -hr +ke ~U r V' &-U r\dl (\ ~£, a.5 heQ.+.
How are momentum ( p =m.~) and kinetic energy (KE = ~ mt'\rt
• similar? ma s& rf\.c, .1.

(, .
~ le-e ~f-t.t "tt \l

• different? . d I q • J,.. ~. ('f\' S
C'fI,o-m<(\,+vC'r\. - r - \~ 0.. yeeThir vl\l' :,: ~'

. \(1 I\<tic. -e ,,<~ ~-0\(t -l So 0<- $t!.aJ a V' \l ill t- · ';}<
ft. o.~cu,~e. l(\ m ~m e!\ tv fY\ lS He.a..ti il~ CZf\ impo IS",- t. r('\'11--::.FAt-
Pr t.E-.o.l\~e 'i- tt..e -el\era~PH~c~~da~~tTs t~ ~"~ I WIi1.... ~

ttfl\e-uJ...t- of W~t. J.e.rre -r IH" ~ 1i-Le $~~;t-etn.
W


